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1.4 Surface Areas of Right Pyramids and
Right Cones
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Geometric Figure I Perimeter Area
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sSurface Area

Volume

S4d=2nr +2nrh

V' = (area of base )< h

SA =dzar’

Cone

Sd=nr’+nrs

l’=%x[an:a of base )= h

Right Square-Based
Pyranmd

SA =2bs + b’
i

F=%x[ar¢anfba&c}xh

General Right Prism

54 = the sum of the area
of all the faces

V' = (area of base )< h

General Right Pyramad

54 = the sum of the area
of all the faces
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Calculate the surface area of this right square pyramid
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2. A right rectangular pyramid
has base dimensions 4 m by
6 m, and a height of 8 m. \
Z

Calculate the surface area of O %J -
the pyramid to the nearest % - 3
square metre. : |
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3. Aright cone has a base radius < Ao Tie
of 4 m and a height of 10 m. !
Calculate the surface area of Cav-£ o
this cone to the nearest square aF Ciecke
metre. [ hovg el
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The lateral area of a cone is 220 cm?. The diameter of
the cone is 10 cm. Determine the height of the cone to
the nearest tenth of a centimetre,
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4.

Y Ericnagls = 200 nT?

A model of the Great Pyramid e o TR

of Giza is constructed for a 2O ,.-.,IJ?' B "_'I|'_ L om
musenm display. The surface -
area of the triangular faces is L|

E—— T

3000 square inches. The side

length of the base is 50 in. b .5
Determine the height of the G‘xFﬁE (n ':'F =

model to a tenth of an inch. {:ﬁp[“-ﬁﬂ%/U— o
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